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PERIMETER AND AREA

Solved Examples

1. Area of a right triangle is 54cm?. If one of its

legs is 12 cm long, its perimeter is

&2


https://doubtnut.app.link/lkek2J5wfhb
https://doubtnut.app.link/MVcbJvrhfnb
https://doubtnut.app.link/MVcbJvrhfnb
https://dl.doubtnut.com/l/_q2BRWNUIokUf

A. 18 cm

B.27 cm

C.36cm

D. 54 cm

Answer: C

° Watch Video Solution



https://dl.doubtnut.com/l/_q2BRWNUIokUf

2. Area of parallelogram QPON is cm”.

@ 6 cm rF'

10 cm
8 cm

Ag
z
VO

° Watch Video Solution

3.1 hectare=  m?

l ° Watch Video Solution


https://dl.doubtnut.com/l/_bbgE0ySh1CXf
https://dl.doubtnut.com/l/_gpuQTJKfAeys

4, squares of each side 1T m makes a

square of side 5 km.

o Watch Video Solution

5. All the congruent triangles have area.

A. Unequal

B. one third

C. equal


https://dl.doubtnut.com/l/_gpuQTJKfAeys
https://dl.doubtnut.com/l/_VzaobqYAFIEX
https://dl.doubtnut.com/l/_R2JkN5YjBgCo

D. none of these

Answer: C

o Watch Video Solution

6. All the triangles equal in area are congruent.

o Watch Video Solution

7. The area of any parallelogram ABCD, is AB X

BC.


https://dl.doubtnut.com/l/_R2JkN5YjBgCo
https://dl.doubtnut.com/l/_P9YAD9VwQDe1
https://dl.doubtnut.com/l/_psbvPctmxMnI

° Watch Video Solution

8. Ratio of the circumference and the diameter

of a circle is more than 3.

o Watch Video Solution

9. A nursery school play ground is 160 m long
and 80 m wide. In it 80 m x 80 m is kept for
swings and in the remaining portion, there is

1.5 m wide path parallel to its width and


https://dl.doubtnut.com/l/_psbvPctmxMnI
https://dl.doubtnut.com/l/_Izh9RcHjNikv
https://dl.doubtnut.com/l/_BmSCJHrPKjar

parallel to its remaining length as shown in
Fig. 9.9. The remaining area is covered by

grass. Find the area covered by grass.
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A. 6456.25m>

B. 5676.25m>

C. 7962.25m>

D. 6162.25m>


https://dl.doubtnut.com/l/_BmSCJHrPKjar

Answer: D

o Watch Video Solution

10. In Fig. 9.10, ABCD is a parallelogram, in
which AB =8 cm, AD = 6 cm and altitude AE =4
cm. Find the altitude corresponding to side

AD.



https://dl.doubtnut.com/l/_BmSCJHrPKjar
https://dl.doubtnut.com/l/_WusUsd3lpElN

\ o Watch Video Solution

11. A rectangular shaped swimming pool with
dimensions 30 m x 20 m has 5 m wide
cemented path along its length and 8 m wide
path along its width (as shown in Fig. 9.11).
Find the cost of cementing the path at the

rate of Rs 200 per m?

30 m
-8m4
20 m
5



https://dl.doubtnut.com/l/_WusUsd3lpElN
https://dl.doubtnut.com/l/_YOb6rbIw7TLO

° Watch Video Solution

12. Circumference of a circle is 33cm. Find its

area.

o Watch Video Solution

13. Rectangle ABCD is formed in a circle as

shown in Fig. 9.12. If AE =8 cm and AD = 5 cm,


https://dl.doubtnut.com/l/_YOb6rbIw7TLO
https://dl.doubtnut.com/l/_GoiKevgOIwqF
https://dl.doubtnut.com/l/_7WnaVpZWVAwb

find the perimeter of the rectangle.
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o Watch Video Solution

14. Find the area of a parallelogram shaped

shaded region of Fig. 9.13. Also, find the area of


https://dl.doubtnut.com/l/_7WnaVpZWVAwb
https://dl.doubtnut.com/l/_QnDee5zTEfTo

each triangle. What is the ratio of area of

shaded portion to the remaining area of

rectangle?
D E C
6 cm
A 4cm F B

10 em

o Watch Video Solution



https://dl.doubtnut.com/l/_QnDee5zTEfTo

1. A rectangular piece of dimensions 3 cm x 2
cm was cut from a rectangular sheet of paper
of dimensions 6 cm x 5 cm. Area of remaining

sheet of paper is

A. 30cm?

B. 36¢cm?

C. 24cm?

D. 22¢m?

Answer: C


https://dl.doubtnut.com/l/_Dlv3xJFuizjT

° Watch Video Solution

2. 36 unit squares are joined to form a

rectangle with the least perimeter. Perimeter

of the rectangle is

A. 12 units

B. 26 units

C. 24 units

D. 36 units

Answer: B


https://dl.doubtnut.com/l/_Dlv3xJFuizjT
https://dl.doubtnut.com/l/_XjWBGOhlHLZu

° Watch Video Solution

3. A wire is bent to form a square of side 22

cm. If the wire is rebent to form a circle, its

radius is

A. 22 cm

B.14 cm

C.11cm

D.7 cm

Answer: B


https://dl.doubtnut.com/l/_XjWBGOhlHLZu
https://dl.doubtnut.com/l/_luWknht6epQx

° Watch Video Solution

4. Find the area of the circle whose perimeter

is 132 cm.

o Watch Video Solution

5. Area of a rectangle and the area of a circle
are equal. If the dimensions of the rectangle

are 14cm x 11 cm, then radius of the circle is

A.21cm


https://dl.doubtnut.com/l/_luWknht6epQx
https://dl.doubtnut.com/l/_e3PYg08Jj7FP
https://dl.doubtnut.com/l/_xSvlJgYpEn56

B.10.5 cm

C.14 cm

D.7 cm.

Answer: D

o Watch Video Solution



https://dl.doubtnut.com/l/_xSvlJgYpEn56

6. Area of shaded portion in Fig. 915 is

! 5 cm

5 cm

A. 25cm?

B. 15cm?

C. 14cm?

D. 10cm?>


https://dl.doubtnut.com/l/_teuXA1BDVAB5

Answer:

o Watch Video Solution

7. Area of parallelogram ABCD (Fig. 9.16) is not

equal to
C
A E? D

A. DEX DC


https://dl.doubtnut.com/l/_teuXA1BDVAB5
https://dl.doubtnut.com/l/_EATJ0zEi0t4h

B.BE X AD

C.BF X DC

D. BEX BC

Answer:

o Watch Video Solution



https://dl.doubtnut.com/l/_EATJ0zEi0t4h

8. Area of triangle MNO of Fig.9.17 is
M Q P

1
A. EMN x NO

1
B. ENO x MO

1

1

Answer:



https://dl.doubtnut.com/l/_BIuUnXyws6QO

\ o Watch Video Solution

9. Ratio of area of AMNO to the area of

parallelogram MNOP in the same figure 9.17 is

A 2:3

B.1:1

C.1:2

D.2:1

Answer:

I o Watch Video Solution


https://dl.doubtnut.com/l/_BIuUnXyws6QO
https://dl.doubtnut.com/l/_J16YKUAWGT9E

10. Ratio of areas of

AMNO, AMOP and AMPO in Fig.918 is

NF—4cm——0F2cmHPt 6 cm 1 Q

A2:1:3
B.1:3:2

C.2:3:1


https://dl.doubtnut.com/l/_J16YKUAWGT9E
https://dl.doubtnut.com/l/_XEkb9uoNCkqv

D.1:2:3

Answer:

o Watch Video Solution

1. In Fig. 919, EFGH is a parallelogram,

altitudes FK and FlI are 8 cm and 4cm


https://dl.doubtnut.com/l/_XEkb9uoNCkqv
https://dl.doubtnut.com/l/_XmRvcWHdlbST

respectively. If EF = 10 cm, then area of EFGH is

i | G
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A. 20cm?

B. 32cm?

C. 40cm?

D. 80cm?

Answer:



https://dl.doubtnut.com/l/_XmRvcWHdlbST

| ¥ Watch Video Solution ]

12. In reference to a circle the value of 7 is

equal to

area
A.

circumference

area

" diameter

circumference

diameter

circumference

radius

Answer: C

° Watch Video Solution



https://dl.doubtnut.com/l/_XmRvcWHdlbST
https://dl.doubtnut.com/l/_uCuKSwTCDEae

13. The ratio of radius and circumference of a

circle is :

A. more than three times of its diameter

B. three times of its diameter

C. less than three times of its diameter

D. three times of its radius

Answer:

o Watch Video Solution



https://dl.doubtnut.com/l/_uCuKSwTCDEae
https://dl.doubtnut.com/l/_DinBE2nHQc25

14. Area of triangle PQR is 100cm? (Fig. 9.20). If

altitude CT is 10 cm, then its base PR is
Q

)
e

A.20 cm

B.15 cm

C.10 cm

D.5cm


https://dl.doubtnut.com/l/_o2QqidwgofqK

Answer:

o Watch Video Solution

15.1n Fig. 9.21,if PR =12 cm, QR =6 cm and PL =

8 cm, then QM is
P

12 cm
8 cm



https://dl.doubtnut.com/l/_o2QqidwgofqK
https://dl.doubtnut.com/l/_1XI4EE1FFggP

A.6cm

B.9cm

C.4 cm

D.2cm

Answer:

° Watch Video Solution

16. In Fig. 922 AMNO is a right-angled

triangle. Its legs are 6 cm and 8 cm long,


https://dl.doubtnut.com/l/_1XI4EE1FFggP
https://dl.doubtnut.com/l/_XkzRJPzRDHWv

Length of perpendicular NP on the side MO is

M

6cm

8 cm 0O

A. 4.8 cm

B.3.6cm

C.24 cm

D.1.2 cm

Answer:



https://dl.doubtnut.com/l/_XkzRJPzRDHWv

I &9 Watch Video Solution I

17. Area of a right-angled triangle is 30cm?. If
its smallest side is 5 cm, then its hypotenuse is
A.14cm
B.13 cm
C.12 cm

D.11 cm

Answer: B

o Watch Video Solution



https://dl.doubtnut.com/l/_XkzRJPzRDHWv
https://dl.doubtnut.com/l/_54AfycuIhosP

18. Circumference of a circle of diameter 5 cm

A. 314 cm

B.31.4 cm

C.15.7 cm

D.1.57 cm

Answer: C

° Watch Video Solution



https://dl.doubtnut.com/l/_54AfycuIhosP
https://dl.doubtnut.com/l/_NorabC6vVQq0

19. Circumference of a circle disc is 88 cm. Its

radius is

A.8cm

B.11 cm

C.14 cm

D.44 cm

Answer:

° Watch Video Solution



https://dl.doubtnut.com/l/_wynslAnxiR1h
https://dl.doubtnut.com/l/_3smZ1QoVFyGm

20. Length of tape required to cover the edges

of a semicircular disc of radius 10 cm is

A.62.8 cm

B.51.4 cm

C.314 cm

D.15.7 cm

Answer: B

o Watch Video Solution



https://dl.doubtnut.com/l/_3smZ1QoVFyGm
https://dl.doubtnut.com/l/_NyfQaTx4ByHt

21. Area of circular garden with diameter 8 m is

A. 12.56m>

B. 25.12m>

C. 50.12m?

D. 200.96m>

Answer:

o Watch Video Solution



https://dl.doubtnut.com/l/_NyfQaTx4ByHt

22. Area of a circle with diameter 'm' radius 'n'

and circumference 'p' is

A 21n

B. 7rm2

2

C.wp

D.m™

Answer: D

o Watch Video Solution



https://dl.doubtnut.com/l/_LWGJ1VlXiGzO
https://dl.doubtnut.com/l/_bOcT0WPL5gAT

23. A table top is semicircular in shape with

diameter 2.8 m. Area of this table top is

A. 3.08m>

B. 6.16m>

C.12.32m?

D. 24.64m>

Answer: A

° Watch Video Solution



https://dl.doubtnut.com/l/_bOcT0WPL5gAT

24.1f 1 m? = zmm?, then the value of x is

A. 1000
B. 10000
C. 100000

D. 1000000

Answer:

o Watch Video Solution



https://dl.doubtnut.com/l/_paPRhz2arubs

25. If p squares of each side Tmm makes a

square of side 1cm, then p is

A.10

B. 100

C. 1000

D. 10000

Answer: B

o Watch Video Solution



https://dl.doubtnut.com/l/_PMiNqnWB2YCj
https://dl.doubtnut.com/l/_vmo0ihblaro2

26.12 m? is the area of

A. a square with side 12 m

B. 12 squares with side Im each

C. 3 squares with side 4 m each

D. 4 squares with side 3 m each

Answer:

° Watch Video Solution



https://dl.doubtnut.com/l/_vmo0ihblaro2

27. If each side of a rhombus is doubled, how

much will its area increase?

A. 1.5 times

B. 2 times

C. 3 times

D. 4 times

Answer: C

o Watch Video Solution



https://dl.doubtnut.com/l/_cDNDUq7DEFqZ
https://dl.doubtnut.com/l/_YcbYcpdLj9du

28. If the sides of a parallelogram are
increased to twice its original lengths, how
much will the perimeter of the new
parallelogram increase?

A. 1.5 times

B. 2 times

C. 3 times

D. 4 times

Answer: D

° Watch Video Solution



https://dl.doubtnut.com/l/_YcbYcpdLj9du

29. If the radius of a circle is doubled, its area

is increased by (a) 100% (b) 200% (c) 300% (d)

400%

A. 1.4 times

B. 2 times

C. 3 times

D. 4 times

Answer:

O Watch Video Solution



https://dl.doubtnut.com/l/_YcbYcpdLj9du
https://dl.doubtnut.com/l/_CfPRTGVVof5O

30. What will be the area of the largest square

that can be cut out of a circle of radius 10 cm?

A. 100cm?

B. 200cm>

C. 300cm?

D. 400cm >

Answer:

o Watch Video Solution



https://dl.doubtnut.com/l/_CfPRTGVVof5O
https://dl.doubtnut.com/l/_VSxXDofDxXk6

31. What is the radius of the largest circle that

can be cut out of the rectangle measuring 10

cm in length and 8 cm in breadth?

A.4 cm

B.5cm

C.8cm

D.10 cm

Answer: A

o Watch Video Solution



https://dl.doubtnut.com/l/_DPUjIFbkGp41

32. The perimeter of the figure ABCDEFGHI] is

A. 60 cm

B.30 cm

C.40cm

D. 50 cm

Answer:



https://dl.doubtnut.com/l/_QDase5HwPsoy

\ ° Watch Video Solution

33. The circumference of a circle whose area is
817r?, is

A. 9rrr

B. 18nr

C.3nr

D. 817r

Answer:

l ° Watch Video Solution


https://dl.doubtnut.com/l/_QDase5HwPsoy
https://dl.doubtnut.com/l/_5TjhlckYu82c

34. The area of a square is 100 cm. The

circumference (in cm) of the largest circle cut

of it is

A. 5T

B. 107

C. 157

D. 207

Answer:



https://dl.doubtnut.com/l/_5TjhlckYu82c
https://dl.doubtnut.com/l/_0UKH01lnnjnv

| @ watch Video Solution ]

35. If the radius of a circle is tripled, the area

becomes

A. 9 times

B. 3 times

C.6 times

D. 30 times

Answer: A

o Watch Video Solution



https://dl.doubtnut.com/l/_0UKH01lnnjnv
https://dl.doubtnut.com/l/_lmrmpfUlLiTo

36. The area of a semicircle of radius 4t is

A. 5mrt?

B. 47rt?

C. 127t

D. 27rt?

Answer:

o Watch Video Solution



https://dl.doubtnut.com/l/_lmrmpfUlLiTo
https://dl.doubtnut.com/l/_urjYxjtAGcPm
https://dl.doubtnut.com/l/_9Nq2zdMs7p4U

37. All triangles have the same base and the

same altitude. True or false.

° Watch Video Solution

38. All triangles are congruent. True or false.

° Watch Video Solution

39. All triangles are equal in area. True or false.

° Watch Video Solution



https://dl.doubtnut.com/l/_9Nq2zdMs7p4U
https://dl.doubtnut.com/l/_qbGP8vr8Beqy
https://dl.doubtnut.com/l/_pragMOHu0BSU

40. All triangles have the same perimeter. True

or false.

o Watch Video Solution

41.In Fig. 9.29 ratio of the area of triangle ABC
to the area of triangle ACD is the same as the

ratio of base BC of triangle ABC to the base CD


https://dl.doubtnut.com/l/_nP9myCT4SRw7
https://dl.doubtnut.com/l/_i4sGO7FJzFKU

of triangle ACD.

° Watch Video Solution

42.Triangles having the same base have equal

area. True or false

o Watch Video Solution



https://dl.doubtnut.com/l/_i4sGO7FJzFKU
https://dl.doubtnut.com/l/_U8SwCgI4zNX5
https://dl.doubtnut.com/l/_bVf0b3X8s9E6

43. Ratio of circumference of a circle to its

radius is always 2m: I.

° Watch Video Solution

44.5 hectare = 500m>

° Watch Video Solution

45. An increase in perimeter of a figure always

increases the area of the figure.



https://dl.doubtnut.com/l/_bVf0b3X8s9E6
https://dl.doubtnut.com/l/_UcU4syRgZKDD
https://dl.doubtnut.com/l/_XwcxepUOvTJV

o Watch Video Solution

46. Two figures having the same area cannot

have different perimeters. True or false.

° Watch Video Solution

47.f area of a parallelogram is 24cm? and one
of the side is of length 6 cm, then length of

the corresponding altitude is.

° Watch Video Solution



https://dl.doubtnut.com/l/_XwcxepUOvTJV
https://dl.doubtnut.com/l/_9LQjOMLitKOa
https://dl.doubtnut.com/l/_GjZOCowgwtgh

48. A hedge boundary needs to be planted
around a rectangular lawn of size 72 m x 18 m.
If 3 shrubs can be planted in a metre of hedge.

how many shrubs will be planted in all?

o Watch Video Solution

49, The perimeter of a rectangle is 40 m. Its
length is four metres less than five times its

breadth. Find the area of the rectangle.

o Watch Video Solution



https://dl.doubtnut.com/l/_GjZOCowgwtgh
https://dl.doubtnut.com/l/_B6KsH6ZgzY6k
https://dl.doubtnut.com/l/_FuYk5ucWshTW

50. A wall of a room is of dimensions 5 mx 4 m.
It has a window of dimensions 1.5 mx 1Tm and a
door of dimensions 2.25 m x 1Tm. Find the area

of the wall which is to be painted.

o Watch Video Solution

51. Rectangle MNOP is made up of four
congruent rectangles (Fig. 9.31). If the length

of one of the rectangle is 8 m and breadth is 2


https://dl.doubtnut.com/l/_FuYk5ucWshTW
https://dl.doubtnut.com/l/_dsFGbCCYUigm
https://dl.doubtnut.com/l/_V9ZlK7Y96AOD

m, then find the perimeter of MNOP.

M N

P O

o Watch Video Solution



https://dl.doubtnut.com/l/_V9ZlK7Y96AOD

52.In Fig. 9.32, area of AAF' B is equal to the
area of parallelogram ABCD. If altitude EF is 16
cm long, find the altitude of the parallelogram
to the base AB of length 10 cm. What is the

area of ADAQ, where O is the mid point of


https://dl.doubtnut.com/l/_V9ZlK7Y96AOD
https://dl.doubtnut.com/l/_CTKfs9X9lQ2A

DC?

f

5 o/ C

AN

+— |0 cm —»

——

° Watch Video Solution

53. Ratio of the area of AW XY to the area of

AWZY is 3:4 (Fig. 933). If the area of


https://dl.doubtnut.com/l/_CTKfs9X9lQ2A
https://dl.doubtnut.com/l/_FUTSqm90CcK0

AW X Zis56em? and WY = 8 c¢m, find the

lengths of XY and YZ.
W
-
X Y Fd

o Watch Video Solution

54.Rani bought a new field that is next to one
she already owns (Fig. 9.34). This field is in the

shape of a square of side 70 m. She makes a


https://dl.doubtnut.com/l/_FUTSqm90CcK0
https://dl.doubtnut.com/l/_6GORV5fTn4Ke

semi circular lawn of maximum area in this

field.
(i) Find the perimeter of the lawn. (ii) Find the

area of the square field excluding the lawn.

2 Ram

o Watch Video Solution



https://dl.doubtnut.com/l/_6GORV5fTn4Ke

55.In Fig. 9.35, find the area of parallelogram

ABCD if the area of shaded triangle is 9cm?.

A D

3 cm—t+—— 4 ¢cm —i
B E C

° Watch Video Solution

56. Pizza factory has come out with two kinds

of pizzas| A square pizza of side 45 cm costs


https://dl.doubtnut.com/l/_VKWoEKXXBUx1
https://dl.doubtnut.com/l/_2XWLBtwf1ZhG

150 and a circular pizza of diameter 50 cm
costs 160 (Fig. 9.36). Which pizza is a better

deal?

——45cm——

45 cm 50 cm

[
T

° Watch Video Solution

57. Three squares are attached to each other
as shown in Figl 9.37. Each square is attached

at the mid point of the side of the square to


https://dl.doubtnut.com/l/_2XWLBtwf1ZhG
https://dl.doubtnut.com/l/_EjgdwcpMfFBl

its right. Find the perimeter of the complete

figure.

|

6m

| ]

o Watch Video Solution

58. In Figl 9.38. ABCD is a square with AB= 15

cm. Find the area of the square BDFE.


https://dl.doubtnut.com/l/_EjgdwcpMfFBl
https://dl.doubtnut.com/l/_UIqsqyxn7b5h

E

o Watch Video Solution



https://dl.doubtnut.com/l/_UIqsqyxn7b5h

59.In the given triangles of Fig. 9.39, perimeter
of AABC = perimeter of APQR. Find the

area of AABC.

o Watch Video Solution

60. Altitudes MN and MO of parallelogram

MGHK are 8 cm and 4 cm long respectively


https://dl.doubtnut.com/l/_bwTHxgN20sNm
https://dl.doubtnut.com/l/_5Jj6WSU3ZtWm

(Fig. 9.40). One side GH is 6 cm longl Find the

perimeter of MGHK.

M K
O
1
G N H
6 cm

° Watch Video Solution



https://dl.doubtnut.com/l/_5Jj6WSU3ZtWm

61. In Figl 9.41, area of APQR is 20 cm and

area of APOSis44cm? Find the length RS, if

PO is perpendicular to OS and QR is 5cm.

]:I

Q— Sem— R S

° Watch Video Solution



https://dl.doubtnut.com/l/_o20hfPlJTovM

62. Area of an isosceles triangle is 48cm?. If
the altitudes corresponding to the base of the
triangle is 8 cm, find the perimeter of the

triangle.

o Watch Video Solution

63. Perimeter of a parallelogram shaped land
is 96 m and its area is 270 square metres| If
one of the sides of this parallelogram is 18 m,

find the length of the other sidel Also, find the


https://dl.doubtnut.com/l/_apGgunxhitoy
https://dl.doubtnut.com/l/_W2fiAGRsr1Tf

lengths of altitudes 1 and m (Fig. 9.42).

18 m

o Watch Video Solution

64. Area of a triangle PQR right-angled at gis

60cm? (Fig. 9.43). If the smallest side is 8cm


https://dl.doubtnut.com/l/_W2fiAGRsr1Tf
https://dl.doubtnut.com/l/_7cc4IqeMh8PF

long, find the length of the other two sides.

Q
f:? .
[ TS
! cmlrr, “ka
/ | B9
E'.' H

o Watch Video Solution

65. In Fig. 9.44 a rectangle with perimeter 264

cm is divided into five congruent rectangles.


https://dl.doubtnut.com/l/_7cc4IqeMh8PF
https://dl.doubtnut.com/l/_0q6ArGvqUWEr

Find the perimeter of one of the rectangles.

° Watch Video Solution

66. Find the area of a square inscribed in a
circle whose radius is 7 cm (Fig. 9.45).

(Hint: Four right-angled triangles joined at


https://dl.doubtnut.com/l/_0q6ArGvqUWEr
https://dl.doubtnut.com/l/_Dj2nmGhoXlnq

right angles to form a square]

° Watch Video Solution



https://dl.doubtnut.com/l/_Dj2nmGhoXlnq

67. Find the area of the shaded region in

g
3_“:( )3:2 2m

° Watch Video Solution

68. In Question find the area enclosed by each

of the following figurs:


https://dl.doubtnut.com/l/_jPFGAdKW6g5C
https://dl.doubtnut.com/l/_YFwmFzc9TLXp

10.2 em

o Watch Video Solution

69. In Question find the area enclosed by each

of the following figurs:


https://dl.doubtnut.com/l/_YFwmFzc9TLXp
https://dl.doubtnut.com/l/_WMGXXLPFM1N4

8 cm

16 em

4 cm

13 cm

° Watch Video Solution

70.1n Question find the area enclosed by each

of the following figurs:


https://dl.doubtnut.com/l/_WMGXXLPFM1N4
https://dl.doubtnut.com/l/_8O0kpYIM86mu

« 3 C=»

15¢cm —

° Watch Video Solution

71. In Question find the area enclosed by each

of the following figurs:



https://dl.doubtnut.com/l/_8O0kpYIM86mu
https://dl.doubtnut.com/l/_RiNEwYPuptDh

° Watch Video Solution



https://dl.doubtnut.com/l/_RiNEwYPuptDh

72.Find the area of shaded region

° Watch Video Solution



https://dl.doubtnut.com/l/_3naBbDHW2VnP

73.Find the area of shaded region

€ 14 comn ——3i

° Watch Video Solution



https://dl.doubtnut.com/l/_nExKe2lS5ee2
https://dl.doubtnut.com/l/_YMjjHi7VFFSi

74. A circle with radius 16 cm is cut into four
equal parts and rearranged to form another

shape as shown in Fig. 9.52:

]
N

Does the perimeter change? If it does change,

by how much does it increase or decrease?

o Watch Video Solution



https://dl.doubtnut.com/l/_YMjjHi7VFFSi

75. A large square is made by arranging a
small square surrounded by four congruent
rectangles as shown in Fig. 9.53. If the
perimeter of each of the rectangle is 16 cm,

find the area of the large square.



https://dl.doubtnut.com/l/_BCIFjNO5VrNY

o Watch Video Solution

76. ABCD is a parallelogram in which AE is
perpendicular to CD (Fig. 9.54). Also AC = 5 cm,
DE = 4 cm, and the area of AAED = 6cm? .

Find the perimeter and area of ABCD.

S

N

D« <4 * E C

o Watch Video Solution



https://dl.doubtnut.com/l/_BCIFjNO5VrNY
https://dl.doubtnut.com/l/_rfVJzKQGdSDJ
https://dl.doubtnut.com/l/_JnxE5RWbqyNA

77. Ishika has designed a small oval race track
for her remote control car. Her design is
shown in the figure 9.55. What is the total
distance around the track? Round your answer
to the nearest whole cm.

p— 52O —f

< 16 cm

o Watch Video Solution

16 cm



https://dl.doubtnut.com/l/_JnxE5RWbqyNA

78. A table cover, 4m X 2m, is spread on a
meeting table. If 25 cm of the table cover is
hanging all around the table, find the cost of
polishing the table top at Rs. 2.25 per square

metre.

o Watch Video Solution

79. The dimensions of a plot are 200 m x 150
m. A builder builds 3 roads which are 3 m wide

along the length on either side and one in the


https://dl.doubtnut.com/l/_7j118Wv1Vad0
https://dl.doubtnut.com/l/_eYpNlSxiqE7f

middle. On either side of the middle road he
builds houses to sell. How much area did he

get for building the houses?

° Watch Video Solution

80. A room is 4.5 m long and 4 m wide. The
floor of the room is to be covered with tiles of
size 15 cm by 10 cm. Find the cost of covering
the floor with tiles at the rate of Rs.4.50 per

tile.

° Watch Video Solution



https://dl.doubtnut.com/l/_eYpNlSxiqE7f
https://dl.doubtnut.com/l/_0rQoHkvE2y7L

81. Find the total cost of wooden fencing
around a circular garden of diameter 28 m, if

1m of fencing costs 300Rs.

° Watch Video Solution

82. Priyanka took a wire and bent it to form a
circle of radius 14 cm. Then she bent it into a
rectangle with one side 24 cm long. What is

the length of the other side?

l ° Watch Video Solution


https://dl.doubtnut.com/l/_0rQoHkvE2y7L
https://dl.doubtnut.com/l/_e7M0I3AaE7nF
https://dl.doubtnut.com/l/_PcVOefWAIKGo

83. How much distance, in metres, a wheel of

25 cm radius will cover if it rotates 350 times?

° Watch Video Solution

84. A circular pond is surrounded by a 2 m
wide circular path. If outer circumference of
circular path is 44 m, find the inner
circumference of the circular path. Also find

area of the path.



https://dl.doubtnut.com/l/_PcVOefWAIKGo
https://dl.doubtnut.com/l/_fM0ucG7ESsRZ
https://dl.doubtnut.com/l/_r2vWjxjoEJbg

Watch Video Solution

85. A carpet of size 5 mx 2 m has 25 cm wide
red border. The inner part of the carpet is blue
in colour (Fig. 9.56). Find the area of blue
portion. What is the ratio of areas of red

portion to blue portion?



https://dl.doubtnut.com/l/_r2vWjxjoEJbg
https://dl.doubtnut.com/l/_iY1tTy3NvUGA

| ¥ Watch Video Solution |

86. A 10 m long and 4 m wide rectangular lawn
is in front of a house. Along its three sides a

50 cm wide flower bed is there as shown in Fig.


https://dl.doubtnut.com/l/_iY1tTy3NvUGA
https://dl.doubtnut.com/l/_Bze9AYAiBERw

9.58. Find the area of the remaining portion.

L-50 cm
4 mj

10 m

° Watch Video Solution

87. Dimensions of a painting are 60 cm x 38

cm. Find the area of the wooden frame of


https://dl.doubtnut.com/l/_Bze9AYAiBERw
https://dl.doubtnut.com/l/_u3o6AkPlBpVm

width 6 cm around the painting as shown in

Fig. 9.62.

60 cmn —|

38 cm|

|

IE cm

° Watch Video Solution

88. A rectangular field is 48 m long and 12 m

wide. How many right triangular flower beds


https://dl.doubtnut.com/l/_u3o6AkPlBpVm
https://dl.doubtnut.com/l/_6SQXZohvc4b7

can be laid in this field, if sides including the
right angle measure 2 m and 4 m,

respectively?

o Watch Video Solution

89. Ramesh grew wheat in a rectangular field
that measured 32 metres long and 26 metres
wide. This year he increased the area for wheat
by 650 square metres, by increasing the length
but not the width. What is the length of the

expanded wheat field?

| |


https://dl.doubtnut.com/l/_6SQXZohvc4b7
https://dl.doubtnut.com/l/_xjgciRjR3du4

| L ® Watch Video Solution

90. In Fig. 9.65, triangle AEC is right-angled at
E, B is a point on EC, BD is the altitude of
triangle ABC, AC =25 cm,BC =7 cm and AE =15

cm. Find the area of triangle ABC and the


https://dl.doubtnut.com/l/_xjgciRjR3du4
https://dl.doubtnut.com/l/_Wbe8mG2V0rF3

length of DB.

A

E B 7 cm C

° Watch Video Solution

91. If the sum of second and tenth terms of an

arithmetic sequence is equal to 12, then find


https://dl.doubtnut.com/l/_Wbe8mG2V0rF3
https://dl.doubtnut.com/l/_GwjQ7AAkuYJF

the sum of fourth, sixth and eighth terms.

o Watch Video Solution

92. ABCD is a given rectangle with length as 80
cm and breadth as 60 cm. P. G. R, S are the mid
points of sides AB, BC, CD, DA respectively. A
circular rangoli of radius 10 cm is drawn at the

centre as shown in Fig. 9.69. Find the area of


https://dl.doubtnut.com/l/_GwjQ7AAkuYJF
https://dl.doubtnut.com/l/_YZxsl0eLWQpV

shaded portion.

o Watch Video Solution

93. 4 squares each of side 10 cm have been cut

from each corner of a rectangular sheet of


https://dl.doubtnut.com/l/_YZxsl0eLWQpV
https://dl.doubtnut.com/l/_2ti9yR746j7L

paper of size 100 cm x 80 cm. From the
remaining piece of paper, an isosceles right
triangle is removed whose equal sides are
each of 10 cm length. Find the area of the

remaining part of the paper.

o Watch Video Solution

94. A dinner plate is in the form of a circle. A
circular region encloses a beautiful design as
shown in Fig. 9.70. The inner circumference is

352 mm and outer is 396 mm. Find the width


https://dl.doubtnut.com/l/_2ti9yR746j7L
https://dl.doubtnut.com/l/_X7gLjbcc8pIt

of circular design.

o Watch Video Solution



https://dl.doubtnut.com/l/_X7gLjbcc8pIt

95. The moon is about 384000 km from earth
and its path around the earth is nearly
circular. Find the length of path described by

moon in one complete revolution. (Take

m=3.14)

o Watch Video Solution

96. A photograph of Billiard/Snooker table has
dimensions as to th of its actual size as shown

in Fig. 9.71:


https://dl.doubtnut.com/l/_DGDFLjVQzPWm
https://dl.doubtnut.com/l/_fWZ1090YEWrY

20 cm

0.5em~

10 ecm

The portion excluding six holes each of
diameter 0.5 cm needs to be polished at rate

of 200 per mo. Find the cost of polishing.

o Watch Video Solution

Exercise Fill In The Blanks


https://dl.doubtnut.com/l/_fWZ1090YEWrY

1. The perimeter of a polygon is the ttal length
of its sides. In a regular polygon of n sids with

x as the length of a side, the perimeter P

° Watch Video Solution

2. If a wire in the shape of a square is rebent

into a rectangle, then the of both shapes

remain same, but may vary.

° Watch Video Solution



https://dl.doubtnut.com/l/_tqsU2d78Cc07
https://dl.doubtnut.com/l/_e36UL31hFybD

3. Area of the square MNOP of Fig. 9.24 is

144cm? Area of each triangle is

M N

o Watch Video Solution



https://dl.doubtnut.com/l/_e36UL31hFybD
https://dl.doubtnut.com/l/_lxywwbDRqsNy

4. In Fig. 9.25, area of parallelogram BCEF is

cm? where ACDF is a rectangle.

A3 cm— C

_—

b 10 cm i

o Watch Video Solution

5. Find the sides of the parallelogram

o Watch Video Solution



https://dl.doubtnut.com/l/_ycf1SNMUJXjY
https://dl.doubtnut.com/l/_Wttdcu1enxNc

6. Area of a parallelogram = Base xx Altitude

o Watch Video Solution

7. The distance around a circle is its

o Watch Video Solution

8. Ratio of the circumference of a circle to its

diameter is denoted by symbol



https://dl.doubtnut.com/l/_Wttdcu1enxNc
https://dl.doubtnut.com/l/_osjcCV7FOuDL
https://dl.doubtnut.com/l/_ahjjfwBlmPpe
https://dl.doubtnut.com/l/_ZNLYXkTn59ir

\ ° Watch Video Solution

9. If area of a triangular piece of cardboard is
90cm?, then the length of altitude

corresponding to 20 cm long base is cm.

° Watch Video Solution

10. Value of 7 is approximately.

° Watch Video Solution



https://dl.doubtnut.com/l/_ZNLYXkTn59ir
https://dl.doubtnut.com/l/_CVT4xOhnQ8Sp
https://dl.doubtnut.com/l/_I6w6hli8P6yx
https://dl.doubtnut.com/l/_eTtZ1l7VXEl2

11. Circumference 'C' of a circle can be found by

multiplying diameter 'd with

o Watch Video Solution

12. Circumference 'C' of a circle is equal to

° Watch Video Solution

13.1m2 = em?



https://dl.doubtnut.com/l/_eTtZ1l7VXEl2
https://dl.doubtnut.com/l/_6dZbcaAIvwFx
https://dl.doubtnut.com/l/_bmQEPY9DpZyT

| ¥ Watch Video Solution

14.1cm? = mm?>

° Watch Video Solution

15. 1 hectate = m?>

° Watch Video Solution

16. Area of a triangle = 3 base X

| N


https://dl.doubtnut.com/l/_bmQEPY9DpZyT
https://dl.doubtnut.com/l/_3jubIPPlcUdW
https://dl.doubtnut.com/l/_JGbZOj4XeaLr
https://dl.doubtnut.com/l/_btUOM1au2oe7

| ¥ Watch Video Solution |

17.1Km?’ = m?

° Watch Video Solution

18. Area of a square of side 6 m is equal to the

area of squares of each side 1 cm.

o Watch Video Solution



https://dl.doubtnut.com/l/_btUOM1au2oe7
https://dl.doubtnut.com/l/_R7OeMX48m3fi
https://dl.doubtnut.com/l/_6tx5nFSIZgmM

19. solve 10ecm? = m

o Watch Video Solution

Exercise True Or False

1. In Fig. 9.26. perimeter of (ii) is greater than

that of (i), but its area is smaller than that of


https://dl.doubtnut.com/l/_LTMkM9m780ts
https://dl.doubtnut.com/l/_9BNlfittwd6j

(i) (ii)

o Watch Video Solution

2.In Fig. 9.27

area of (i) is the same as the area of (ii).


https://dl.doubtnut.com/l/_9BNlfittwd6j
https://dl.doubtnut.com/l/_Rg5D679V3v2w

(M (ii)

° Watch Video Solution

3.In Fig. 9.27

Perimeter of (ii) is the same as (i).


https://dl.doubtnut.com/l/_Rg5D679V3v2w
https://dl.doubtnut.com/l/_mbrGvH8Yrf6k

(M) (i)

° Watch Video Solution

4.In Fig. 9.27

If (i) is divided into squares of unit length,


https://dl.doubtnut.com/l/_mbrGvH8Yrf6k
https://dl.doubtnut.com/l/_iVTl93tZqZef

then its area is 13 unit squares.

(i) (ii)

o Watch Video Solution

5.1n Fig. 9.27 if 1 box is of unit length

Perimeter of (ii) is 18 units.


https://dl.doubtnut.com/l/_iVTl93tZqZef
https://dl.doubtnut.com/l/_kmVJTmoPn4u5

(i) (ii)

o Watch Video Solution

6. If perimeter of two parallelograms are equal,

then their areas are also equal.

o Watch Video Solution



https://dl.doubtnut.com/l/_kmVJTmoPn4u5
https://dl.doubtnut.com/l/_jpBYYY3NRVZ0

7. All congruent triangles are equal in area.

o Watch Video Solution

Think And Discuss

1. Find the area of rectangle whose perimeter

is 36 cm and one side is of length 11 cm.

o Watch Video Solution



https://dl.doubtnut.com/l/_uKknDY0vthBT
https://dl.doubtnut.com/l/_G1nDqn4egeAW

2. Can you frame. Question in which areas of
all the plane figures rctangle. Square, triangle

and a parallelogram are to be calculated?

o Watch Video Solution

3. Compare the area of a rectangle with base b
and height h with the area of a rectangle with

base 2b and height 2h.

o Watch Video Solution



https://dl.doubtnut.com/l/_cqoXnkbrdNkK
https://dl.doubtnut.com/l/_KdB7yRQUNAlh
https://dl.doubtnut.com/l/_Nq61olJgpoMM

4. Express the formulas for the area and
perimeter of a square using s for the length of

a side.

o Watch Video Solution

5. Give the formula for the area of a circle in

terms of the diameter d.

° Watch Video Solution



https://dl.doubtnut.com/l/_Nq61olJgpoMM
https://dl.doubtnut.com/l/_dTDTA9s0Vqeo

6. Describe what happens to the area of a
triangle when the base is doubled and the

height remains the same.

o Watch Video Solution

7. Describe what happens to the area of a
parallelogram when the length of its base is

doubled but the height remains the same.

o Watch Video Solution



https://dl.doubtnut.com/l/_DMddJ0EQ1mB1
https://dl.doubtnut.com/l/_imEm5nrBAwa2

